Initial and final ratio

Concept Lecture - 4
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The ratio between two numbers is U If
each numbher is increased by 14, the ratio will
become 4. The sum of the numbers is

ar m?maﬁ FT AT 4:7 ¢ TAS HE&AT
q 14 sngﬁwamtnr-r914 g S|
TEAT3T FT AT FAT L

a) 120 b) 55 @110 d) 124
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Two numbers are in the ratio 5.7. On diminishing
oeach of them by 40, they b&:ome in the ratio
17:27. The difference of the numbers is

ar WEAT 5:7 3 H g1 IR 37 A& A
¥ 40 HTRT S o 3T I 17:27 @
T ¥ @ 3AFT AT AT FI

a) 18 b) 52 c) 137 0
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The number of students in three classes are
in the ratio 2:3:4. If 12 students are
increased in each class, this ratio changes to
8:11:14. The total number of students in

the three classes in the beginning was
e e Jreqard
2:3:4 % IR 12 oF UAF FaT A
§eIv ST, d Fq9IT 8:11:14 & ATl
21 %3 # o o fhaw A

@)162 b) 108 c) 96 d) 54




The ratio of present ages of two brothers is 1: 2
and 5 years back the ratio was 1: 3. What will be
the ratio of their ages after 5 years?

afg & smsAt Y Y & A 1:2 § AR
5a&q3ﬁ3mﬁrmanm13m 5]
saﬁaﬁmmrﬂmmaﬁl
a)1:4 b) 2:3 @35 d)5:6




14

1 6

Four years ago, the ratio of A’s age to B’s age was
11: 14 and four years later their ages will be in the
ratio 13: 16. The present age of A is

IR a¥ ugd, A 3R BF WY FT 39T 11:4
a7 gUT IR a¥ 91E, SeTd g FT oA
13:16 @I Aaﬁa'c‘iﬂmmmaﬁﬁ'&

.48 b) 26 c) 44 d) 28




Four years ago, the ratio of the ages of 4 and B
was 13:9 and eight years hence, it would be

4: 3. The difference of their present ages is:

IR 9§ gga 4 3R B % g H mm
13:9 maﬁtsa&qﬁrﬁrﬂzts A

3 FAAT Y A A T

a) 56 years b) 40 years@16 years d) 24 years
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Seven years ago, the ratio of the ages of A and B
was 4 : 5. Eight years hence, the ratio of the
ages of A and B will be 9 : 10. What is the sum
of their present ages in years?

I 9§ 9B, A 3R B H WY FT AU
4:5 o7 315 ¥ a1G, A T B # 3n11 T
He[aTd 9:10  §NN| 3eTehr aAATT 3nzr HT
IR (a F ) AT B

a) 32 b) 82 @41 d) 56
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The ratio of the ages of A and B, four years ago,
was 4 : 5. Eight years hence, the ratio of the
3 |O ages of A and B will be 11 : 13. What is the
{ }'f 5 ratio of their present ages?
- WIR a¥ ggd, A IR B #AT Y FT HJurd

4: 5 9T| 3T& 9Y 1<, Aaﬁtsaﬁrmaﬂ
@ thsmcrran 13317rr|3?|1€ra'c1'm?rma»'r

a?rcrrama"h
@9 : 11 b)11: 9
+g 13 )8: 7 d)7: 8

9
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Five years ago, ages of father and his son
were in the ratio 7: 2. Five years hence.
Ages of the father and his son will be in
the ratio of 9:4. After how many years
will the father’s age be twice the age of
his son?

e a¥ gd, ﬁmaﬁtwﬂ:;&rﬂaﬁ

9:4 grm| feaa a¥ s $r 3
3UF T I AT HI T T g SATeai?
a)9 10 )12 d) 8

| NTPC CBT-2, L6, 9-5-22 | 0
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If one is subtracted form each of the numerator
and denominator of a fraction, it becomes i. If 5is
added to each of the numerator and denominator,
the fraction becomes % The difference between

11 times the numerator and 3 times the
denominator of the original fraction is:

I FN AT F IT IR T AT TRAF &
wwﬁmm,ﬂmfﬁmi%m
gt g IR w3 WA A v+ & 5 A
far e, ar urca e 1 & sweR @ #
ﬂgmﬁra:sfara:nﬁaﬁtaass T
ST I AT HITAY|

a) 4 ()5 )7 d) 6

| ICAR 4 Mar 2022, 52 |11



The dimensions of a rectangular room when
increased by 4 meters are in the ratio of 4 :
3 and when decreased by 4 meters, are in the
ratio of 2 : 1. The dimensions of the room are:
J9 Rl IATIHT FAY A dFES T ASE
aelt # 4 Hex ¥ ForT Jar § A 3dH0
AT 4:3 & I § AR I9 4 A @
TR ST § @ 3T 3T 2:1 g ST
¥ 3@ FAY A TS § DIE AT Y

a) 6mand4m Q) 2mand8m
c)l16 mand12m d)24mand16m
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The annual incomes of 4 and B are in the
ratio 4: 3 and the ratio of their expenditures
is 3: 2. If each of them saves Rs. 600 in the
year, the annual income of 4 is

Ife 4 3tk B Y a1¥® 39 4.3 & 3ﬁT
3AFT W 3:2 F Hqud A gl IR
YAF 600 TIX Y g9q FIGT &, @ 4
$1 T 3T AT FI?

a) 4800 b) 1800 ¢) 1200 @2400
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The incomes of M and N are in the ratio 3 :
5. Each of them spends Rs. 7000 and saves
the remaining. If the ratio of their savings is
4 : 9, find the income of M?
MaNa?rma;rmss%uaﬁ
¥ &F 7000% @ FI4T §  qIfF T
qUIT §] WO IAN q9d FT A
4:9 § @ m &Y AT gaT FA?

a) Rs.8000 s. 15000
¢)Rs.18000  d] Rs.25000

| | 14
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